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Surface Area of Prisms and Cylinders

Surface Area Formulas: Lateral Area: L = Ph, where P = perimeter of base and h = height of prism
Total Area: S =L + 2B, where B = area of base

Find the lateral and total surface areas of each prism. For rectangular prisms, assume the base is on the

Perimeter of base: P = 2@+ 2@ :@
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Lateral Area: L = @-\—/z -

m
Area of base: B = @ . ( >: ( m2>
Total Area: S = + 2 @
Perimeter of base: F = 2( ) +2( ) = cm
Lateral Area: L = . = cm?®
Area of base: B = . = cm?
Total Area: S = +20 = cm?
Perimeter of base: © o = in
Lateral Area: L = . = in
2

Area of base: B= 6 —— 2 =0 \/5 in

4 4
Total Area: S = + 2 = in?




6 cm

& cm

5cm .

Hypotenuse: ¢ =

Perimeter of base: P =

Lateral Area: L =

cm

cm

Area of base: B =

Total Area: S = + 2 = cm

B, Perimeter of base: F =

Lateral Area: L =

25 ft

Area of base: B =

Jrm e L

16 ft Total Area: S =

6. A square-based prism has a lateral area of 168 in”. If the height of the prism is 6 in., what is the area
of the base and the total surface area?

P(6) = 168

7. Each side of the base of a pentagonal prism is 16 m. If the lateral area is 240 m®, what is the height of
the prism?
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Find the lateral and total surface area of each cylinder. Leave answers in terms of w unless otherwise
noted.

1. Circumference: C = m( [ ]) = f‘>

@ Lateral Area: L = > -< >: \ ft2/

Radius: r = ;] Q
Area of base: B = n@ *

Total Area: 6 =

7 cm

2. “ Circumference: 2 o T o = cm

S cm

Lateral Area: L = o = cm

Area of base: B=m o = cm

Total Area: S = + 2 e = cm

53 Circumference: C =
0 Lateral Area: L =

9in Area of Base: B =

Total Area: S =

4. A cylinder has a radius of 12.5 m and a lateral area of 6001 m”. What is the height of the cylinder?

B1AB WS dor nane A



513.4 WS
Volume of Frisms

V =Bh
Find the volume of each prism (leave answers in simplified radicals as necessary).

1. Area of base: B = m- < > = m”
&

: | ——
': 20 m
: Volume: V= . = m>
1 | ~—— 7
,/-! ________ ___7
2. g Area of base: B = . cm?
4 cm i ______________ | 5
o Volume: V= . cm
S cm
10 cm
] 1 2
: i 3 3
3. ! : Area of base: B = 6[ o \/_j \/_j = in”
e[ N & in
Volume: V=
5in
4, Area of base:
G cm ! Scm
! Volume:
A
5cm e AR

5. A square-based prism has a volume of 605 ft°. If the height of the prism is 5 feet, what is the side length

of the base?
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Volume of Cylinders

Find the volume of each cylinder. Leave answers in terms of m as necessary.

e
(2w

7 cm

5 cm

Radius: r = ;]: @
2

Area of base: B = ni( A = ft?

Volume:

Area of base: ) = cm

Volume: V=

Area of base:

Volume:

4. A cylinder has a radius of 12 m and volume of 360n m®. What is the height of the cylinder?

"B1A 4 WS dAnr nane ?



